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Part A

- Answer all questwns _ . B T
Each questwn carries 1, wexghtage. S T S

3 'Bneﬂy dlscuss the tochmques of separatlon of costs P
' '--Enumerate t;he major managenal appllcatlons of Margmal Costmg
-‘Brleﬂy diseuss the: d:ﬂ"erent methods for accountmg for By-products

' _'.'_:‘Sclent;xﬁc cost: management through the. apphcatlon‘ of cost acoountmg pnnmples is an unperatwo.ﬁ e |
B .for the healthcare sectbr in Kera,la Cntlcally oomment on the statement Substanttate your views..

5. 'Bneﬂy explam the: conoept of Value Aﬂal}’SlS .
8. What is Kalzen Costlng 2 What is 1ts relevance ina competltlve busmess scenano " o

[ - :-f, for the healthcare sector mKer
"ABC Ltd produces three produ :
'_ : 'l‘he ﬁollowmg mformatlou has been prov:ded

What 1s Target Costmg-

me

' Answer any four questwns
Each questwns cames 3 wexghtage

-'?_ DlScus' t:s; speoxal sigmﬁcanoe m ‘the current globahsed reglme

‘Sclenhﬁc cost nana ) the apphcatlon of oost aocountmg prmclples is an 1mperat1ve

...at'a }omt manufactunng cost of : ..1' 250 000, -

( 3 Sellmg Pnce per Umt
e _I'rgm Percentage method

(6 x 1 6 we1ghtage) o

Stitically oomment on:thefstatemé;lﬁ;ﬁSubstahtiaw youf vieWs._ o

'l‘um over" DU



R .. ":5 _ dlﬁ"erent shoe manufacturers who m tum manufacture and market shoes under thelr own brands R

. LLL can only charge Rs 24 per umt of lea.ther If the company’s mtended proﬁt margm is 20 % on: | _

- S cost, calculate the target cost per umt If 30 b of the cost per umt of 1eather 1s related to’ du-ect
s materlals, what is the Target Cos‘bper umt for dlrect matenals for LLL ? R S

: '1'1_.'

e

o _.Dmectmatenal

| _ -;-leed Productxon overhead

' The ﬁxed produc‘mon overhead ﬁgu i |
- : of 36 000 umts per: anmnn _The fix productlon overhead tncurred was- Rs 30 000 per month _'
- .ﬁ.'t‘lght fromJanuary2018 : SR . IR . Sl SR R

- Selhng, dlstnbutzon and admm

M/s Leather Lusters Ltd (LLL) 1s a manufacturer of hlgh quahty leather that is used for thel .
) 'manufacture of Ieather shoes LLL operates in a Very competitwe envnronment I sells leather to- -

‘What do you mean by Cost Drwer ? stcuss its’ use in Actlwty Based Costmg (ABG) W1th smtable.- ' §
...examples _ _ _ e L - _ R S
ABC Ltd oommenoed busmess on Olst January 2018 makmg one product only Its cost card". :
"_'_shows I IR

B ;._'\. :

» Parhculm's
o Dn-ect, Iabour

| ; o _f'_'_.,'.:ahio_aht_"(ﬂé-'l AT
e

: Vanable Product:on overhead 4

o Standard productmn cost.

sbeen calculated on the basw of a budgeted normal output

) penses are as follows

Rs 20 000 per month.

'_'_-15 % of the Sales v'alue

-y




' in-Cost Control envu'onment Crltlcally comment on the g gwen statement clearly brmgmg out the o

14,

_ Answer any three questr.ons
E'ach questr,on carrtes 4 wetghtage

‘Whlle Kaxzen Costmg is sultable in a Cost Reductlon settmg Standard Costmg is the one relevant : '_

- ._dzﬁ'erences between the two types of costmg noted above, and also the dlﬂ?erence between Cost-' S
o '=_Reductlon and Cost Control ' L ' L '

‘Joint product costs can be allocated based on two broad approaches (1) Benefits-recelvecl' _ \f

R approaches and (u) Relatwe market value approaches Elucldate

" 16.

erte a note on the features of Act1v1ty Based Costmg (ABC) w1th & focus on the methodology |

- mvo]ved m the treatment of mdn‘ect costs (Overheads)

- 16,

17

..'.:;_.i'Salarnes&WageS_ofStaff-l.., 14 000 00 -. :
o 'Heatmg and"nghtlllg L 4,000.00

From the followmg partlculars of Mfs God s Own Canteen -a canteen based mKozlukode speclahzed S
- in servm.g meals, relatmg to the cost 4500 meals served by 1ts ﬁnd the Total Operatmg Cost, and T
-"the CostperMeals"' A : T - o : a

CFeod oL 25000000
BakeryItems STl sp0000

B Beverages o . 6500 00\. o

L0000 o p o
300000 T,
e _1','009..0'0' . ' e

_Prennses rent 5 200000

Tnterest _ . 180000
What are the ) ""I-w-trends i strateglc Cost Management ‘? N R

Turn over -




Ca T ipresee
Pmn SN _ R

Answer the fo.?,lowmg compulsory questwn.
The questwn carnes G wezghtage, o

| 18 Mfs Paramount Structures Ltd has. two plants v1z Plant P and Plant S 'I‘he followmg are the .' Lo

operatmg detaﬂs of these two plants under t.he company .
L -':'Partwulars S Piant P (Rs) nl PZcmt s (Rs)
o osales ~20,00,000 : - 16,00,000
 VariableCost 1200000 10,00, ozoo' i
 Fixed Cost - B W 4 00, 000 s _.-"4 00,000
Capaclty utihzatlon . 100 % - 50 %

It is reqmred to merge both the plants You are requu-ed to asoertam the followmg

_ "‘('é). 'Break-even sales and break-even capacxty of the merged plant o
s (b) f'.:'Proﬁt and proﬁtablhty of operatmg the merged plant at 90% of the capaclty

= ey 'Capaclty jevel of operatnon, if proﬁt of Rs 6 00 000 (the proﬁl; made by both the plants i R

: before merger) has to be made by the merged plant

(1 x s 6 welghtage) o
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